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_89_

4822 5526| 3508| 9793|3370 1700| 6229.0 764 1415 08
3994| 5237| 3330 7778 2980 1610/ 53300 589 1314 05
=100 83% 950 93% 79% 88% 950% 86% 77% 93% 66%
58.1 49| - 116.8 70 - - 21.9 351 -
- 27| - 106.4 50 - - 138 244 -
100 - 55%| - 91% 7 - - 63% 0% -
- - - - - - - 18 51| -
- - - - - - - 18 51| -
=100 - - - - - - - 100  100% -
13632 - - 26768| 14892 | 1066 229 3123 s000| -
68.9| 76.044 | 37.667 155 93 5 1 18.2 30.6 0.038
- - - 33660| 34650 | - - 8318 | 7200 -
- 74205 | 98657 | - 147 3| - 338 24.9 0.02
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H13 188.0 112.0 40.6 4.50
H13 0.5 6.2 6.7 0.10
H14 185.0 108.0 39.7 431
H14 0.5 6.1 6.0 0.12
H13 190.0 96.3 29.3 3.37
H13 0.9 6.0 5.8 0.06
H14 200.0 96.9 29.3 3.42
H14 0.9 5.8 6.0 0.07
H13 240.0 87.0 | 28.0 3.80
H13 5.8 7.0 | 120 2.50
H14 270.0 110.0 | 27.0 4.50
H14 2.5 5.5 7.0 0.70

14

-B5 -




152,791 (113,975) 160,759 313,550 (113,975)
199,019 ( 91,408) 103,361 302,380 ( 91,408)
223,369 ( 99,829) 49,944 273,313 ( 99,829)
232,238 (126,015) 232,238 (126,015)
221,918 (114,295) 221,918 (114,295)
ND  (121,750) ND  (121,750)
ND
BOD
BOD 90 97
BOD 20mg/L mg/L
20mg/L
mg/L
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7. —REERAT

W KBOD{mg/L)

n Ey
ERI1E 635 13.7
SERE124E 745 14.3
ERE134E 447 15.0
ERE144E 394 15.9
& 2221 14.5

—|aEssS

vl

x
v
n

2025

BOD(x mg/L)

1. ERBREE

BRKBOD(me/L) [ FEAKT-N(me/L)

n 14 n i
ERE114E 159 14.4 159 19.8
ERE125E 159 14.0 152 21.8
SERE134E 191 16.8 177 20.1
1445 180 19.2 181 225

B 689 16.2 669 21.1
T-NRkX(BOD) T-NE:ES(T-N)

(=]
=]
vl

*
v
&

BODR{x mg/L)

T-Nly mg/L)
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7. BODEELER

M5R/KBOD(me/L)  [[HERAT-N(mg/L)
n FE I n )
=t 18 6.0 || 13 11.1
BODE B MEER! BODE
100.0%
& 50.0%

8 o
B
V&g =
v 2 Iy
DA
~N O
BOD{x mg/L) o
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